# Estimate and Fekete-Szegö Inequality for a Class of $m$-Fold Symmetric Bi-Univalent Function Defined by Subordination 

Dong GUO ${ }^{1, *}$, Huo TANG ${ }^{2}$, En AO $^{2}$, Liangpeng XIONG ${ }^{3}$<br>1. Foundation Department, Chuzhou Vocational and Technical College, Anhui 239000, P. R. China;<br>2. School of Mathematics and Statistics, Chifeng University, Inner Mongolia 024000, P. R. China;<br>3. School of Mathematics and Statistics, Wuhan University, Hubei 430072, P. R. China


#### Abstract

In this paper, we investigate the coefficient estimate and Fekete-Szegö inequality of a class of $m$-fold bi-univalent function defined by subordination. The results presented in this paper improve or generalize the recent works of other authors.


Keywords analytic functions; univalent functions; coefficient estimates; $m$-fold symmetric bi-univalent function; Fekete-Szegö inequality; subordination

MR(2010) Subject Classification 30C45

## 1. Introduction

Let $A$ denote the class of functions of the form:

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \tag{1.1}
\end{equation*}
$$

which are analytic in the open unit disk $U=\{z:|z|<1\}$. Further, by $S$ we denote the family of all functions in $A$ which are univalent in $U$.

It is well known that every function $f \in S$ has an inverse $f^{-1}$, which is defined by

$$
f^{-1}(f(z))=z, \quad z \in U
$$

and

$$
f\left(f^{-1}(\omega)\right)=\omega, \quad|\omega|<r_{0}(f), r_{0}(f) \geq \frac{1}{4}
$$

The inverse functions $g=f^{-1}$ is given by

$$
\begin{equation*}
f^{-1}(\omega)=\omega-a_{2} \omega^{2}+\left(2 a_{2}^{2}-a_{3}\right) \omega^{3}-\left(5 a_{2}^{3}-5 a_{2} a_{3}+a_{4}\right) \omega^{4}+\cdots \tag{1.2}
\end{equation*}
$$

[^0]A function $f \in A$ is said to be bi-univalent in $U$ if both $f$ and $f^{-1}$ are univalent in $U$. Let $\Sigma$ denote the class of all bi-univalent functions in $U$ given by (1.1). The class of bi-univalent functions was first introduced and studied by Lewin [1] and was showed that $\left|a_{2}\right|<1.51$. Brannan and Clunie [2] improved Lewin's results to $\left|a_{2}\right| \leq \sqrt{2}$ and later Netanyahu [3] proved that max $\left|a_{2}\right|=4 / 3$ if $f(z) \in \Sigma$. Recently, many authors investigated bounds for various subclasses of bi-univalent functions [4-10].

Let $\varphi$ be an analytic and univalent function with positive real part in $U$ such that $\varphi(0)=$ $1, \varphi^{\prime}(0)>0$ and $\varphi(U)$ is symmetric with respect to the real axis. The Taylor's series expansion of such function is of the form

$$
\begin{equation*}
\varphi(z)=1+B_{1} z+B_{2} z^{2}+B_{3} z^{3}+\cdots \tag{1.3}
\end{equation*}
$$

where all coefficients are real and $B_{1}>0$.
Recently, Tang and Orhan [11,12] introduced the following subclass of bi-univalent function class $\Sigma$ and obtained estimates on the first two coefficients $\left|a_{2}\right|$ and $\left|a_{3}\right|$ and the Fekete-Szegö inequality.

Definition 1.1 ([11]) A function $f \in \Sigma$ given by (1.1) is said to be in the class $H_{\Sigma}^{\mu}(\lambda, \varphi)$ if it satisfies

$$
(1-\lambda)\left(\frac{f(z)}{z}\right)^{\mu}+\lambda f^{\prime}(z)\left(\frac{f(z)}{z}\right)^{\mu-1} \prec \varphi(z), \quad \lambda \geq 1, \quad \mu \geq 0, \quad z \in U
$$

and

$$
(1-\lambda)\left(\frac{g(\omega)}{\omega}\right)^{\mu}+\lambda g^{\prime}(\omega)\left(\frac{g(\omega)}{\omega}\right)^{\mu-1} \prec \varphi(\omega), \quad \lambda \geq 1, \mu \geq 0, \omega \in U
$$

where $g(\omega)=f^{-1}(\omega)$.
Theorem 1.2 ([11]) Let the function $f$ given by (1.1) be in the class $H_{\Sigma}^{\mu}(\lambda, \varphi), \lambda \geq 1$ and $\mu \geq 0$. Then

$$
\left|a_{2}\right| \leq \min \left\{\frac{B_{1}}{\lambda+\mu}, \sqrt{\frac{2\left(B_{1}+\left|B_{2}-B_{1}\right|\right)}{(1+\mu)(2 \lambda+\mu)}}\right\}
$$

and

$$
\left|a_{3}\right| \leq \begin{cases}\min \left\{\frac{B_{1}}{2 \lambda+\mu}+\frac{B_{1}^{2}}{(\lambda+\mu)^{2}}, \frac{2\left(B_{1}+\left|B_{2}-B_{1}\right|\right)}{(1+\mu)(2 \lambda+\mu)}\right\}, & 0 \leq \mu<1 \\ \frac{B_{1}}{2 \lambda+\mu}+\frac{2\left|B_{2}-B_{1}\right|}{(1+\mu)(2 \lambda+\mu)}, & \mu \geq 1\end{cases}
$$

Theorem 1.3 ([12]) Let the function $f$ given by (1.1) be in the class $H_{\Sigma}^{\mu}(\lambda, \varphi), \lambda \geq 1$ and $\mu \geq 0$. Then

$$
\left|a_{3}-\gamma a_{2}^{2}\right| \leq \begin{cases}\frac{B_{1}}{2 \lambda+\mu}, & |1-\gamma| \leq \frac{\mu+1}{2}\left|1+\frac{2\left(B_{1}-B_{2}\right)(\lambda+\mu)^{2}}{B_{1}^{2}(2 \lambda+\mu)(1+\mu)}\right| \\ \frac{2 B_{1}^{3}|1-\gamma|}{\left|(2 \lambda+\mu)(1+\mu) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\lambda+\mu)^{2}\right|}, & |1-\gamma| \geq \frac{\mu+1}{2}\left|1+\frac{2\left(B_{1}-B_{2}\right)(\lambda+\mu)^{2}}{B_{1}^{2}(2 \lambda+\mu)(1+\mu)}\right|\end{cases}
$$

For each functions $f \in S$, the function

$$
h(z)=\sqrt[m]{f\left(z^{m}\right)}, \quad z \in U ; m \in N
$$

is univalent and maps the unit disk $U$ into a region with $m$-fold symmetry. A function is said to
be $m$-fold symmetric $[13,14]$ if it has the following normalized form:

$$
\begin{equation*}
f(z)=z+\sum_{k=1}^{\infty} a_{m k+1} z^{m k+1}, \quad z \in U ; m \in N \tag{1.4}
\end{equation*}
$$

Srivastava et al. [15] defined $m$-fold symmetric univalent functions in $U$, analogous to the concept of $m$-fold symmetric univalent functions. For the normalized form of $f$ given by (1.4), they obtained the series expansion for $f^{-1}$ as follows:

$$
\begin{align*}
g(\omega)= & f^{-1}(\omega)=\omega-a_{m+1} \omega^{m+1}+\left[(m+1) a_{m+1}^{2}-a_{2 m+1}\right] \omega^{2 m+1}- \\
& {\left[\frac{1}{2}(m+1)(3 m+2) a_{m+1}^{3}-(3 m+2) a_{m+1} a_{2 m+1}+a_{3 m+1}\right] \omega^{3 m+1}+\cdots } \tag{1.5}
\end{align*}
$$

We denote by $\Sigma_{m}$ the class of $m$-fold symmetric bi-univalent function in $U$. For $m=1$, the formula (1.5) coincides with the formula (1.2) of the class $\Sigma$.

Recently, many researchers [15-20] introduced and investigated a lot of interesting subclass of $m$-fold symmetric bi-univalent functions. Motivated by them, we investigate the estimates $\left|a_{m+1}\right|$ and $\left|a_{2 m+1}\right|$ for functions belonging to the new general subclass $N_{\Sigma_{m}}^{\mu}(\lambda, \varphi)$ of $\Sigma_{m}$. A new subclass $N_{\Sigma_{m}}^{\mu}(\lambda, \varphi)$ is defined as follows:

Definition 1.4 $A$ function $f \in \Sigma_{m}$ given by (1.4) is said to be in the class $N_{\Sigma_{m}}^{\mu}(\lambda, \varphi)$ if it satisfies

$$
(1-\lambda)\left(\frac{f(z)}{z}\right)^{\mu}+\lambda f^{\prime}(z)\left(\frac{f(z)}{z}\right)^{\mu-1} \prec \varphi(z), \quad \lambda \geq 1, \mu \geq 0, \quad z \in U
$$

and

$$
(1-\lambda)\left(\frac{g(\omega)}{\omega}\right)^{\mu}+\lambda g^{\prime}(\omega)\left(\frac{g(\omega)}{\omega}\right)^{\mu-1} \prec \varphi(\omega), \quad \lambda \geq 1, \mu \geq 0, \omega \in U
$$

where the function $g$ is given by (1.5).
Remark 1.5 There are many choices of $\varphi, \lambda, \mu$, and $m$ which would provide interesting subclasses of class $N_{\Sigma_{m}}^{\mu}(\lambda, \varphi)$. For example
(1) For $\lambda=1, \mu=0$ and $m=1, N_{\Sigma_{1}}^{0}(1, \varphi)=S_{\Sigma_{1}}^{0}(\varphi)$ introduced by Ma and Minda [4].
(2) For $\mu=0, \lambda=1, m=1$ and $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1), N_{\Sigma_{1}}^{0}\left(1,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)=S_{\Sigma}^{*}[\alpha]$ studied by Brannan and Taha [7].
(3) For $\mu=0, \lambda=1, m=1$ and $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(0 \leq \beta<1), N_{\Sigma_{1}}^{0}\left(1, \frac{1+(1-2 \beta) z}{1-z}\right)=S_{\Sigma}^{*}(\beta)$ studied by Brannan and Taha [7].
(4) For $m=1$ and $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1), N_{\Sigma_{1}}^{\mu}\left(\lambda,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)=N_{\Sigma}^{\mu}(\alpha, \lambda)$ introduced by Çağlar et al. [8].
(5) For $m=1$ and $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(0 \leq \beta<1), N_{\Sigma_{1}}^{\mu}\left(\lambda, \frac{1+(1-2 \beta) z}{1-z}\right)=N_{\Sigma}^{\mu}(\beta, \lambda)$ introduced by Çağlar et al. [8].
(6) For $\mu=1, m=1$ and $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1), N_{\Sigma_{1}}^{1}\left(\lambda,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)=B_{\Sigma}(\alpha, \lambda)$ studied by Frasin and Aouf [9].
(7) For $\mu=1, m=1$ and $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(0 \leq \beta<1), N_{\Sigma_{1}}^{1}\left(\lambda, \frac{1+(1-2 \beta) z}{1-z}\right)=B_{\Sigma}(\beta, \lambda)$ studied by Frasin and Aouf [9].
(8) For $\mu=1, \lambda=1, m=1$ and $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1), N_{\Sigma_{1}}^{1}\left(1,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)=H_{\Sigma}^{\alpha}$ studied by Srivastava et al. [10].
(9) For $\mu=1, \lambda=1, m=1$ and $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(0 \leq \beta<1), N_{\Sigma_{1}}^{1}\left(1, \frac{1+(1-2 \beta) z}{1-z}\right)=H_{\Sigma}(\beta)$ studied by Srivastava et al. [10].
(10) For $m=1, N_{\Sigma_{1}}^{\mu}(\lambda, \varphi)=H_{\sigma}^{\mu}(\lambda, \varphi)$ studied by Tang et al. [11].
(11) For $\mu=1, \lambda=1$ and $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1), N_{\Sigma_{m}}^{1}\left(1,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)=H_{\Sigma, m}^{\alpha}$ studied by Srivastava et al. [15].
(12) For $\mu=1, \lambda=1$ and $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(0 \leq \beta<1), N_{\Sigma_{m}}^{1}\left(1, \frac{1+(1-2 \beta) z}{1-z}\right)=H_{\Sigma, m}(\beta)$ studied by Srivastava et al. [15].
(13) For $\mu=1$ and $\lambda=1, N_{\Sigma_{m}}^{1}(1, \varphi)=H_{\sigma, m}(\varphi)$ studied by Çağlar and Gurusamy [17].
(14) For $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1), N_{\Sigma_{m}}^{\mu}\left(\lambda,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)=N_{\Sigma, m}^{\mu}(\alpha, \lambda)$ studied by Bulut [18].
(15) For $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(0 \leq \beta<1), N_{\Sigma_{m}}^{\mu}\left(\lambda, \frac{1+(1-2 \beta) z}{1-z}\right)=N_{\Sigma, m}^{\mu}(\beta, \lambda)$ studied by Bulut [18].
(16) For $\mu=1$ and $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1) N_{\Sigma_{m}}^{1}\left(\lambda,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)=A_{\Sigma, m}^{\alpha, \lambda}$ studied by Sümer [19].
(17) For $\mu=1$ and $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(0 \leq \beta<1), N_{\Sigma_{m}}^{1}\left(\lambda, \frac{1+(1-2 \beta) z}{1-z}\right)=A_{\Sigma, m}^{\lambda}(\beta)$ studied by Sümer [19].
(18) For $\mu=0, \lambda=1$ and $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(0 \leq \beta<1), N_{\Sigma_{m}}^{0}\left(1, \frac{1+(1-2 \beta) z}{1-z}\right)$ introduced by Hamidi and Jahangiri [20].
(19) For $\mu=0, \lambda=1$ and $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1), N_{\Sigma_{m}}^{0}\left(1,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)=S_{\Sigma, m}^{\alpha}$.
(20) For $\lambda=1$ and $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1)$, a new class $N_{\Sigma_{m}}^{\mu}\left(1,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)$ is obtained, which consists of $m$-fold symmetric bi-Bazilevič functions.
(21) For $\lambda=1$ and $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(0 \leq \beta<1)$, a new class $N_{\Sigma_{m}}^{\mu}\left(1, \frac{1+(1-2 \beta) z}{1-z}\right)$ is obtained, which consists of $m$-fold symmetric bi-Bazilevič functions.

In order to derive our main results, we shall need the following lemma.
Lemma 1.6 ([21]) If $p(z) \in P$, then $\left|c_{n}\right| \leq 2$ for each $n$, where $P$ is the family of all functions $p$, analytic in $U$ for which $R\{p(z)\}>0$, where

$$
p(z)=1+c_{1} z+c_{2} z^{2}+\cdots, \quad z \in U
$$

## 2. Coefficient estimates

Using Lemma 1.6, our first main results is given by Theorem 2.1 below:
Theorem 2.1 Let $f(z)$ given by (1.4) be in the class $N_{\Sigma_{m}}^{\mu}(\lambda, \varphi)$. Then

$$
\begin{equation*}
\left|a_{m+1}\right| \leq \min \left\{\frac{B_{1}}{\mu+m \lambda}, \sqrt{\frac{2\left(B_{1}+\left|B_{2}-B_{1}\right|\right)}{(m+\mu)(\mu+2 m \lambda)}}, \Omega_{1}\right\} \tag{2.1}
\end{equation*}
$$

$$
\left|a_{2 m+1}\right| \leq \begin{cases}\frac{B_{1}}{\mu+2 m \lambda}, & \frac{B_{1}-B_{2}}{B_{1}^{2}} \in\left(-\infty,-\frac{(1+2 m+\mu)(\mu+2 m \lambda)}{2(\mu+m \lambda)^{2}}\right] \cup  \tag{2.2}\\ & {\left[\frac{[(-\mu)(\mu+2 m \lambda)}{2(\mu+m \lambda)^{2}},+\infty\right),} \\ \min \left\{\frac{(1+m) B_{1}^{2}}{2(\mu+m \lambda)^{2}}+\frac{B_{1}}{\mu+2 m \lambda}, \Omega_{2}, \Omega_{3}\right\}, & \frac{B_{1}-B_{2}}{B_{1}^{2}} \in\left[-\frac{(1+2 m+\mu)(\mu+2 m \lambda)}{2(\mu+m \lambda)^{2}},-\frac{(m+\mu)(\mu+2 m \lambda)}{2(\mu+m \lambda)^{2}}\right) \cup \\ & \left.\left(-\frac{(m+\mu)(\mu+2 m \lambda)}{2(\mu+m \lambda)^{2}}\right), \frac{(1-\mu)(\mu+2 m \lambda)}{2(\mu+m \lambda)^{2}}\right]\end{cases}
$$

where

$$
\begin{aligned}
\Omega_{1}= & \frac{B_{1} \sqrt{2 B_{1}}}{\sqrt{\left|(m+\mu)(\mu+2 m \lambda) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+m \lambda)^{2}\right|}} \\
& \Omega_{2}=\frac{(1+m)\left(B_{1}+\left|B_{2}-B_{1}\right|\right)}{(m+\mu)(\mu+2 \lambda m)}+\frac{B_{1}}{\mu+2 \lambda m} \\
\Omega_{3}= & \frac{(1+m) B_{1}^{3}}{\left|(m+\mu)(\mu+2 \lambda m) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+\lambda m)^{2}\right|}
\end{aligned}
$$

Proof Let $f \in N_{\Sigma_{m}}^{\mu}(\lambda, \varphi)$ and $g=f^{-1}$. Then there are analytic functions $u, v: U \rightarrow U$, with $u(0)=v(0)=0$ satisfying

$$
\begin{align*}
& (1-\lambda)\left(\frac{f(z)}{z}\right)^{\mu}+\lambda f^{\prime}(z)\left(\frac{f(z)}{z}\right)^{\mu-1}=\varphi(u(z))  \tag{2.3}\\
& (1-\lambda)\left(\frac{g(\omega)}{\omega}\right)^{\mu}+\lambda g^{\prime}(\omega)\left(\frac{g(\omega)}{\omega}\right)^{\mu-1}=\varphi(v(\omega)) \tag{2.4}
\end{align*}
$$

Define the functions $p_{1}(z)$ and $p_{2}(z)$ by

$$
p_{1}(z)=\frac{1+u(z)}{1-u(z)}=1+c_{m} z^{m}+c_{2 m} z^{2 m}+c_{3 m} z^{3 m}+\cdots
$$

and

$$
p_{2}(z)=\frac{1+v(z)}{1-v(z)}=1+b_{m} z^{m}+b_{2 m} z^{2 m}+b_{3 m} z^{3 m}+\cdots
$$

or equivalently,

$$
\begin{equation*}
u(z)=\frac{p_{1}(z)-1}{p_{1}(z)+1}=\frac{1}{2} c_{m} z^{m}+\left(\frac{1}{2} c_{2 m}-\frac{c_{m}^{2}}{4}\right) z^{2 m}+\cdots \tag{2.5}
\end{equation*}
$$

and

$$
\begin{equation*}
v(z)=\frac{p_{2}(z)-1}{p_{2}(z)+1}=\frac{1}{2} b_{m} z^{m}+\left(\frac{1}{2} b_{2 m}-\frac{b_{m}^{2}}{4}\right) z^{2 m}+\cdots \tag{2.6}
\end{equation*}
$$

From (2.3)-(2.6), we have

$$
\begin{equation*}
(1-\lambda)\left(\frac{f(z)}{z}\right)^{\mu}+\lambda f^{\prime}(z)\left(\frac{f(z)}{z}\right)^{\mu-1}=\varphi\left(\frac{p_{1}(z)-1}{p_{1}(z)+1}\right) \tag{2.7}
\end{equation*}
$$

and

$$
\begin{equation*}
(1-\lambda)\left(\frac{g(\omega)}{\omega}\right)^{\mu}+\lambda g^{\prime}(\omega)\left(\frac{g(\omega)}{\omega}\right)^{\mu-1}=\varphi\left(\frac{p_{2}(\omega)-1}{p_{2}(\omega)+1}\right) \tag{2.8}
\end{equation*}
$$

Using (2.5) and (2.6), together with (1.3) we get

$$
\begin{align*}
\varphi\left(\frac{p_{1}(z)-1}{p_{1}(z)+1}\right) & =1+\frac{1}{2} B_{1} c_{m} z^{m}+\left[\frac{1}{2} B_{1} c_{2 m}+\frac{\left(B_{2}-B_{1}\right) c_{m}^{2}}{4}\right] z^{2 m}+\cdots  \tag{2.9}\\
\varphi\left(\frac{p_{2}(\omega)-1}{p_{\omega}(z)+1}\right) & =1+\frac{1}{2} B_{1} b_{m} \omega^{m}+\left[\frac{1}{2} B_{1} b_{2 m}+\frac{\left(B_{2}-B_{1}\right) b_{m}^{2}}{4}\right] \omega^{2 m}+\cdots \tag{2.10}
\end{align*}
$$

Since

$$
\begin{aligned}
& (1-\lambda)\left(\frac{f(z)}{z}\right)^{\mu}+\lambda f^{\prime}(z)\left(\frac{f(z)}{z}\right)^{\mu-1}=1+(\mu+m \lambda) a_{m+1} z^{m} \\
& \quad(\mu+2 m \lambda)\left[\frac{\mu-1}{2} a_{m+1}^{2}+a_{2 m+1}\right] z^{2 m}+\cdots
\end{aligned}
$$

and

$$
\begin{gathered}
(1-\lambda)\left(\frac{g(\omega)}{\omega}\right)^{\mu}+\lambda g^{\prime}(\omega)\left(\frac{g(\omega)}{\omega}\right)^{\mu-1}=1-(\mu+m \lambda) a_{m+1} \omega^{m}+ \\
(\mu+2 m \lambda)\left[\left(m+\frac{\mu+1}{2}\right) a_{m+1}^{2}-a_{2 m+1}\right] \omega^{2 m}+\cdots
\end{gathered}
$$

it follows frrom (2.7)-(2.10) that

$$
\begin{align*}
(\mu+m \lambda) a_{m+1} & =\frac{1}{2} B_{1} c_{m},  \tag{2.11}\\
(\mu+2 m \lambda)\left[\frac{\mu-1}{2} a_{m+1}^{2}+a_{2 m+1}\right] & =\frac{1}{2} B_{1} c_{2 m}+\frac{\left(B_{2}-B_{1}\right) c_{m}^{2}}{4},  \tag{2.12}\\
-(\mu+m \lambda) a_{m+1} & =\frac{1}{2} B_{1} b_{m},  \tag{2.13}\\
(\mu+2 m \lambda)\left[\left(m+\frac{\mu+1}{2}\right) a_{m+1}^{2}-a_{2 m+1}\right] & =\frac{1}{2} B_{1} b_{2 m}+\frac{\left(B_{2}-B_{1}\right) b_{m}^{2}}{4} . \tag{2.14}
\end{align*}
$$

From (2.11) and (2.13), we get

$$
\begin{gather*}
c_{m}=-b_{m}  \tag{2.15}\\
a_{m+1}^{2}=\frac{B_{1}^{2}\left(c_{m}^{2}+b_{m}^{2}\right)}{8(\mu+m \lambda)^{2}} . \tag{2.16}
\end{gather*}
$$

Applying Lemma 1.6 for the coefficients $c_{m}$ and $b_{m}$, we have

$$
\begin{equation*}
\left|a_{m}\right| \leq \frac{B_{1}}{\mu+m \lambda} \tag{2.17}
\end{equation*}
$$

Adding (2.12) and (2.14), we have

$$
\begin{equation*}
(m+\mu)(\mu+2 m \lambda) a_{m+1}^{2}=\frac{B_{1}\left(c_{2 m}+b_{2 m}\right)}{2}+\frac{B_{2}-B_{1}}{4}\left(c_{m}^{2}+b_{m}^{2}\right) \tag{2.18}
\end{equation*}
$$

Applying Lemma 1.6 for the coefficients $c_{m}, c_{2 m}, b_{m}$ and $b_{2 m}$, we have

$$
\begin{equation*}
\left|a_{m+1}\right| \leq \sqrt{\frac{2\left(B_{1}+\left|B_{2}-B_{1}\right|\right)}{(m+\mu)(2 \lambda m+\mu)}} \tag{2.19}
\end{equation*}
$$

Substituting (2.15) and (2.16) into (2.18), we get

$$
\begin{equation*}
c_{m}^{2}=\frac{2 B_{1}(\mu+m \lambda)^{2}\left(c_{2 m}+b_{2 m}\right)}{(m+\mu)(\mu+2 m \lambda) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+m \lambda)^{2}} . \tag{2.20}
\end{equation*}
$$

From (2.15), (2.20) and (2.16), we get

$$
\begin{equation*}
a_{m+1}^{2}=\frac{B_{1}^{3}\left(c_{2 m}+b_{2 m}\right)}{2(m+\mu)(\mu+2 m \lambda) B_{1}^{2}+4\left(B_{1}-B_{2}\right)(\mu+m \lambda)^{2}} . \tag{2.21}
\end{equation*}
$$

Then, in view of Lemma 1.6, we have

$$
\begin{equation*}
\left|a_{m+1}\right| \leq \frac{B_{1} \sqrt{2 B_{1}}}{\sqrt{\left|(m+\mu)(\mu+2 \lambda m) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+\lambda m)^{2}\right|}} \tag{2.22}
\end{equation*}
$$

Now, from (2.17), (2.19) and (2.22), we get

$$
\left|a_{m+1}\right| \leq \min \left\{\frac{B_{1}}{\lambda m+\mu}, \sqrt{\frac{2\left(B_{1}+\left|B_{2}-B_{1}\right|\right)}{(m+\mu)(2 \lambda m+\mu)}}, \frac{B_{1} \sqrt{2 B_{1}}}{\sqrt{\left|(m+\mu)(\mu+2 \lambda m) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+\lambda m)^{2}\right|}}\right\}
$$

By subtracting (2.14) from (2.12), we obtain

$$
\begin{equation*}
a_{2 m+1}=\frac{1+m}{2} a_{m+1}^{2}+\frac{B_{1}}{4(\mu+2 m \lambda)}\left(c_{2 m}-b_{2 m}\right) . \tag{2.23}
\end{equation*}
$$

Substituting (2.11) into (2.23) and using Lemma 1.6, we get

$$
\begin{equation*}
\left|a_{2 m+1}\right| \leq \frac{(1+m) B_{1}^{2}}{2(\mu+\lambda m)^{2}}+\frac{B_{1}}{\mu+2 \lambda m} \tag{2.24}
\end{equation*}
$$

Substituting (2.18) into (2.23) and using Lemma 1.6, we get

$$
\begin{equation*}
\left|a_{2 m+1}\right| \leq \frac{(1+m)\left(B_{1}+\left|B_{2}-B_{1}\right|\right)+(m+\mu) B_{1}}{(m+\mu)(\mu+2 \lambda m)} \tag{2.25}
\end{equation*}
$$

From (2.11) and (2.23) it follows that

$$
a_{2 m+1}=B_{1}\left\{\left[h\left(\frac{B_{1}-B_{2}}{B_{1}^{2}}\right)+\frac{1}{4(\mu+2 m \lambda)}\right] c_{2 m}+\left[h\left(\frac{B_{1}-B_{2}}{B_{1}^{2}}\right)-\frac{1}{4(\mu+2 m \lambda)}\right] b_{2 m}\right\},
$$

where

$$
h\left(\frac{B_{1}-B_{2}}{B_{1}^{2}}\right)=\frac{(1+m)}{4(m+\mu)(\mu+2 m \lambda)+8 \frac{B_{1}-B_{2}}{B_{1}^{2}}(\mu+m \lambda)^{2}} .
$$

Since all $B_{i}$ are real and $B_{1}>0$, we conclude that

$$
\left|a_{3}\right| \leq \begin{cases}4 B_{1}\left|h\left(\frac{B_{1}-B_{2}}{B_{1}^{2}}\right)\right|, & \left\lvert\, h\left(\frac{B_{1}-B_{2}}{B_{1}^{2}}\right) \geq \frac{1}{4(\mu+2 m \lambda)}\right. \\ \frac{B_{1}}{\mu+2 m \lambda}, & 0 \leq\left|h\left(\frac{B_{1}-B_{2}}{B_{1}^{2}}\right)\right| \leq \frac{1}{4(\mu+2 m \lambda)}\end{cases}
$$

This completes the proof of Theorem 2.1.
Theorem 2.2 Let $f(z)$ given by (1.4) be in the class $N_{\Sigma_{m}}^{\mu}(\lambda, \varphi)$. Then

$$
\left|a_{3}-\gamma a_{2}^{2}\right| \leq \begin{cases}\frac{B_{1}}{\mu+2 m \lambda}, & 0 \leq|h(\gamma)|<\frac{1}{4(\mu+2 m \lambda)}  \tag{2.26}\\ \frac{|1+m-2 \gamma| B_{1}^{3}}{\left|(m+\mu)(\mu+2 m \lambda) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+m \lambda)^{2}\right|}, & |h(\gamma)| \geq \frac{1}{4(\mu+2 m \lambda)}\end{cases}
$$

Proof By using the equalities (2.21) and (2.23), we have

$$
a_{2 m+1}-\gamma a_{m+1}^{2}=B_{1}\left[\left(h(\gamma)+\frac{1}{4(\mu+2 m \lambda)}\right) c_{2 m}+\left(h(\gamma)-\frac{1}{4(\mu+2 m \lambda)}\right) b_{2 m}\right]
$$

where

$$
h(\gamma)=\frac{(1+m-2 \gamma) B_{1}^{2}}{4(m+\mu)(\mu+2 m \lambda) B_{1}^{2}+8\left(B_{1}-B_{2}\right)(\mu+m \lambda)^{2}}
$$

Since all $B_{i}$ are real and $B_{1}>0$, we conclude that

$$
\left|a_{3}-\gamma a_{2}^{2}\right| \leq \begin{cases}\frac{B_{1}}{\mu+2 m \lambda}, & 0 \leq|h(\gamma)|<\frac{1}{4(\mu+2 m \lambda)} \\ \frac{|1+m-2 \gamma| B_{1}^{3}}{\left|(m+\mu)(\mu+2 m \lambda) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+m \lambda)^{2}\right|}, & |h(\gamma)| \geq \frac{1}{4(\mu+2 m \lambda)}\end{cases}
$$

which completes the proof.

## 3. Corollaries and consequences

Setting $m=1$ in Theorem 2.1, we have the following corollary.
Corollary 3.1 Let $f(z)$ given by (1.4) be in the class $N_{\Sigma_{1}}^{\mu}(\lambda, \varphi)$. Then

$$
\begin{gathered}
\left|a_{2}\right| \leq \min \left\{\frac{B_{1}}{\lambda+\mu}, \sqrt{\frac{2\left(B_{1}+\left|B_{2}-B_{1}\right|\right)}{(1+\mu)(2 \lambda+\mu)}}, \Omega_{1}\right\}, \\
\left|a_{2 m+1}\right| \leq \begin{cases}\frac{B_{1}}{\mu+2 \lambda}, & \begin{array}{l}
\frac{B_{1}-B_{2}}{B_{1}^{2}} \in\left(-\infty,-\frac{(3+\mu)(\mu+2 \lambda)}{2(\mu+\lambda)^{2}}\right] \cup \\
\left.\operatorname{lin} \frac{[(\mu+2 \lambda)}{2(\mu+\lambda)^{2}},+\infty\right),
\end{array} \\
\min \left\{\frac{B_{1}^{2}}{(\mu+\lambda)^{2}}+\frac{B_{1}}{\mu+2 \lambda}, \Omega_{2}, \Omega_{3}\right\}, & \frac{B_{1}-B_{2}}{B_{1}^{2} \in\left[-\frac{(3+\mu)(\mu+2 \lambda)}{2(\mu+\lambda)^{2}},-\frac{(1+\mu)(\mu+2 \lambda)}{2(\mu+\lambda)^{2}}\right) \cup} \\
\left.\left(-\frac{(1+\mu)(\mu+2 \lambda)}{2(\mu+\lambda)^{2}}\right), \frac{(1-\mu)(\mu+2 \lambda)}{2(\mu+\lambda)^{2}}\right]\end{cases}
\end{gathered}
$$

where

$$
\begin{gathered}
\Omega_{1}=\frac{B_{1} \sqrt{2 B_{1}}}{\sqrt{\left|(1+\mu)(\mu+2 \lambda) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+\lambda)^{2}\right|}} \\
\Omega_{2}=\frac{2\left(B_{1}+\left|B_{2}-B_{1}\right|\right)}{(1+\mu)(\mu+2 \lambda)}+\frac{B_{1}}{\mu+2 \lambda} \\
\Omega_{3}=\frac{2 B_{1}^{3}}{\left|(1+\mu)(\mu+2 \lambda) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+\lambda)^{2}\right|}
\end{gathered}
$$

Remark 3.2 The estimates of the coefficients $\left|a_{2}\right|$ and $\left|a_{3}\right|$ of Corollary 3.1 are the improvements of the estimates obtained in [11, Theorem 2.1].

Setting $\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\alpha}(0<\alpha \leq 1)$ in Theorem 2.1, we have the following corollary.
Corollary 3.3 Let $f(z)$ given by (1.4) be in the class $N_{\Sigma_{m}}^{\mu}\left(\lambda,\left(\frac{1+z}{1-z}\right)^{\alpha}\right)=N_{\Sigma, m}^{\mu}(\alpha, \lambda)$. Then

$$
\begin{gathered}
\left|a_{m+1}\right| \leq \min \left\{\frac{2 \alpha}{\lambda m+\mu}, \sqrt{\frac{8 \alpha-4 \alpha^{2}}{(m+\mu)(2 \lambda m+\mu)}}, \frac{2 \alpha}{\sqrt{(\mu+m \lambda)^{2}+m \alpha\left(\mu+2 m \lambda-m \lambda^{2}\right)}}\right\}, \\
\left|a_{2 m+1}\right| \leq \begin{cases}\frac{2 \alpha}{\mu+2 \lambda}, & 0<\alpha \leq \frac{(\mu+m \lambda)^{2}}{\mu+2 m \lambda+m^{2} \lambda^{2}}, \\
\min \left\{\frac{2(1+m) \alpha^{2}}{(\mu+\lambda m)^{2}}+\frac{2 \alpha}{\mu+2 \lambda m}, \Omega_{1}, \Omega_{2}\right\}, & \frac{(\mu+m \lambda)^{2}}{\mu+2 m \lambda+m^{2} \lambda^{2}}<\alpha \leq 1,\end{cases}
\end{gathered}
$$

where $\Omega_{1}=\frac{(1+m)\left(4 \alpha-2 \alpha^{2}\right)}{(m+\mu)(\mu+2 \lambda m)}+\frac{2 \alpha}{\mu+2 \lambda m}, \Omega_{2}=\frac{2(1+m) \alpha^{2}}{(\mu+\lambda m)^{2}+m \alpha\left(\mu+2 m \lambda-m \lambda^{2}\right)}$.
Remark 3.4 The estimates of the coefficients $\left|a_{m+1}\right|$ and $a_{2 m+1}$ of Corollary 3.2 are the improvement of the estimates obtained in [18, Theorem 4].

Setting $\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}(o \leq \beta<1)$ in Theorem 2.1, we have the following corollary.
Corollary 3.5 Let $f(z)$ given by (1.4) be in the class $N_{\Sigma_{m}}^{\mu}\left(\lambda, \frac{1+(1-2 \beta) z}{1-z}\right)=N_{\Sigma, m}^{\mu}(\beta, \lambda)$. Then

$$
\begin{gathered}
\left|a_{m+1}\right| \leq \begin{cases}\sqrt{\frac{4(1-\beta)}{(m+\mu)(2 \lambda m+\mu)}}, & 0 \leq \beta<\frac{m\left(1+2 m \lambda-m \lambda^{2}\right)}{(1+2 m \lambda)(1+m)} \\
\frac{2(1-\beta)}{\lambda m+\mu}, & \frac{m\left(1+2 m \lambda-m \lambda^{2}\right)}{(1+2 m \lambda)(1+m)} \leq \beta<1\end{cases} \\
\left|a_{2 m+1}\right| \leq \begin{cases}\frac{2(1-\beta)}{\mu+2 m \lambda}, & \mu \geq 1 \\
\min \left\{\frac{2(1+m)(1-\beta)^{2}}{(\mu+m \lambda)^{2}}+\frac{2(1-\beta)}{\mu+2 m \lambda}, \frac{2(1+m)(1-\beta)}{(m+\mu)(\mu+2 \lambda m)}\right\}, & 0 \leq \mu<1\end{cases}
\end{gathered}
$$

Remark 3.6 The estimate of the coefficients $\left|a_{2 m+1}\right|$ of Corollary 3.3 is the improvement of the estimate obtained in [18, Theorem 15]. Setting $m=1$ in Theorem 2.2, we have the following
corollary.
Corollary 3.7 ([12, Theorem 2.1]) Let $f(z)$ given by (1.4) be in the class $N_{\Sigma_{1}}^{\mu}(\lambda, \varphi)$. Then

$$
\left|a_{3}-\gamma a_{2}^{2}\right| \leq \begin{cases}\frac{B_{1}}{\mu+2 \lambda}, & 0 \leq|h(\gamma)|<\frac{1}{4(\mu+2 \lambda)} \\ \frac{2|1-\gamma| B_{1}^{3}}{\left|(1+\mu)(\mu+2 \lambda) B_{1}^{2}+2\left(B_{1}-B_{2}\right)(\mu+\lambda)^{2}\right|}, & |h(\gamma)| \geq \frac{1}{4(\mu+2 \lambda)}\end{cases}
$$

Acknowledgements The authors thank the anonymous referees for their valuable suggestions and comments which improved the presentation of the paper.

## References

[1] M. LEWIN. On a coefficient problem for bi-univalent functions. Proc. Amer. Math. Soc., 1967, 18(1): 63-68.
[2] D. A. BRANNAN, J. G. CLUNIE. Aspects of Contemporary Complex Analysis. Academic Press, Inc., London-New York, 1980.
[3] E. NETANYAHU. The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in $|z|<1$. Arch. Rational. Mech. Anal., 1969, 32: 100-112.
[4] Wancang MA, D. MINDA. A unified treatment of some special classes of univalent functions. Int. Press, Cambridge, MA, 1994.
[5] H. M. SRIVASTAVA, S. GABOURY, F. GHANIM. Coefficient estimates for some general subclasses of analytic and bi-univalent functions. Afr. Mat., 2017, 28: 693-706.
[6] Zhigang PENG, Qiuqiu HAN. On the coefficients of several classes of bi-univalent functions. Acta Math. Sci. Ser. B (Engl. Ed.), 2014, 34(1): 228-240.
[7] D. A. BRAND, T. S. TAHA. On some classes of bi-univalent functions. Studia Univ. Babeş-Bolyai Math., 1986, 31(2): 70-77.
[8] M. ÇAĞLAR, H. ORHAN, N. YAĞMUR. Coefficient bounds for new subclasses of bi-univlent functions. Filomat, 2013, 27: 1165-1171.
[9] B. A. FRASIN, M. K. AOUF. New subclasses of bi-univalent functions. Appl. Math. Lett., 2011, 24(9): 1569-1573.
[10] H. M. SRIVASTAVA, A. K. MISHRA, P. GOCHHAYAT. Certain subclasses of analytic and bi-univalent functions. Appl. Math. Lett., 2010, 23(10): 1188-1192.
[11] Huo TANG, Guantie DENG, Shuhai LI. Coefficient estimates for new subclasses of Ma-Minda bi-univalent functions. J. Inequal. Appl., 2013, 2013: 317-417.
[12] H. ORHAN, N. MAGESH, V. K. BALAJI. On the Fekete-Szegö Problem for certain classes of Ma-Minda bi-univalent functions. Afr. Mat., 2016, 27(5-6): 889-897.
[13] W. KOEPF. Coefficients of symmetric functions of bounded boundary rotations. Proc. Amer. Math. Soc., 1989, 105(2): 324-329.
[14] C. POMMERENKE. On the coefficients of close-to-convex functions. Michigan Math. J., 1962, 9: 259-269.
[15] H. M. SRIVASTAVA, S, SIVASUBRAMANIAN, R. SIVAKUMAR. Initial coefficient bounds for a subclass of $m$-fold symmetric bi-univalent functions. Tbilisi Math. J., 2014, 7(2): 1-10.
[16] H. M. SRIVASTAVA, S. GABOURY, F. GHANIM. Initial coefficient estimates for some subclasses of m-fold symmetric bi-univalent functions. Acta Math. Sci. Ser. B (Engl. Ed.), 2016, 36(3): 863-871.
[17] M. ÇAĞLAR, P. GURUSAMY, E. DENIZ. Unpredictability of initial coefficient bounds for m-fold symmetric bi-univalent starlike and convex functions defined by subordinations. Afr. Mat., 2018, 29(5-6): 793-802.
[18] S. BULUT. Coefficient estimates for general subclasses of $m$-fold symmetric analytic bi-univalent functions. Turk. J. Math., 2016, 40(6): 1386-1397.
[19] E. S. SÜMER. Coefficient bounds for subclasses of $m$-fold symmetric analytic bi-univalent functions. Turkish. J. Math., 2016, 40(3): 641-646.
[20] S. G. HAMIDI, J. M. JAHANGIRI. Unpredictability of the coefficients of m-fold symmetric analytic bistarlike functions. Internat. J. Math., 2014, 25(7): 1450064, 8 pp.
[21] C. POMMERENKE. Univalent Functions. Vandenhoeck Ruprecht, Göttingen, Germany, 1975.


[^0]:    Received July 2, 2018; Accepted December 12, 2018
    Supported by the National Natural Science Foundation of China (Grant Nos. 11561001;11271045), the Program for Young Talents of Science and Technology in Universities of Inner Mongolia Autonomous Region (Grant No. NJYT-18-A14), the Natural Science Foundation of Inner Mongolia of China (Grant No. 2018MS01026), the Higher School Foundation of Inner Mongolia of China (Grant No.NJZY19211) and the Natural Science Foundation of Anhui Provincial Department of Education (Grant Nos. KJ2018A0833; KJ2018A0839).

    * Corresponding author

    E-mail address: gd791217@163.com (Dong GUO); thth2009@163.com (Huo TANG); cfxyaoen@sina.com (En AO); xlpwxf@163.com (Liangpeng XIONG)

